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Chapter 2, Problem 8
Question.

What is the value of 0™

when m is a given integer?



Chapter 2, Problem 8

Definition of xX® and x™™
XM = X(X-1)...(X-m+1)
From: (2.43) Concrete Mathematics

A Foundation for Computer Science
Graham, Knuth, Patashnik

X = 1/[(Xx+1)(X+2)...(x+m)]
From: Lecture Notes 9
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Form >= 1
« For m>=1 we use the definition x® = x(x-1)...(x-
m+1).

« X = 0 will always give us a product of 0.
0 =0(0-1)...(0-m+1)
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Form <=0

« For m>=1 we use the definition x™ =

1[(X+1)(X+2)...(x+m)].

o 010 = 1/[(0+1)(0+2)...(0+|m])]
= 1/[1*2*...*|m|]
= 1/(|ml!)



Chapter 2, Problem 8
Conclusion.

What is the value of 0™,
when m is a given integer?

0, if m>=1;
1/(|m](!), if m<=0.
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